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For example lot 90,200 square feet in size
Step One: Determine net lot size not including 
· cleared utility and stormwater easements
· road rights-of-way and access easements 
· cleared active recreation areas or
· water bodies
Net lot area = 78,060 square feet
Step Two: Calculate required canopy coverage as per Section 5.7.2 
Net lot area x minimum canopy coverage for Office-Institutional Use
78,060 square feet X 40% = 31,224 square feet minimum
Step Three: Measure area of existing canopy to be protected
Include all wooded areas protected by tree protection fence and/or silt fence and the drip zones of protected trees that extend beyond these fences.  For purposes of determining tree canopy the critical root zones of surveyed trees can be used to establish drip zone limits.
Area of Existing Canopy Protected = 19,000 square feet (24.3%)
Step Four: Determine canopy deficit
Canopy Coverage Required [Step 2]	             (40%)		31,224 square feet
Minus Existing Canopy Protected [Step 3]     (24.3%)	         -19,000 square feet
Canopy Deficit			                      (15.7%)	           12,224 square feet
Step Five: Calculate replacement trees as per Section 5.7.2
1 tree/500 square feet X 12,224 square feet = 24 replacement trees
Count all trees to be planted
· in required land use buffers
· required for parking lot shading
· other trees not in buffers or parking areas planted at least 20 feet apart
